Fahrgestell: ZCFD4079205117224 | VP: 15211211200065 | Modell: 40-10 4X4T.DAILY(96) | Baureihe: 54 | Gruppe: 04 | Untergruppe: 30 |
Bildtafel: 6430732

5430-00

IVECO




Fahrgestell: ZCFD4079205117224 | VP: 15211211200065 | Modell: 40-10 4X4T.DAILY(96) | Baureihe: 54 | Gruppe: 04 | Untergruppe: 30 |

Bildtafel: 6430732

Pos. | Teilenum | Stiic [Benennung Bemerkung And | Ersa|Aust
mer K. er. tz | aus.
1 4600631 3 |SCHRAUBE-STIFTSCHRAUBE - S
2 98473354 1 |KONSOLE-KONSOLE -
3 4710945 1 |BUCHSE-BUCHSE DIAM=18X30 MM
4 4741749 1 |SCHRAUBE-SCHRAUBE -
5 4755220 1 |RING-O-RING DIAM=22,22 MM SP=2,62
6 4755221 2 |RING-O-RING DIAM=17,86 MM SP=2,62 S
7 4837071 1 |BUEGEL-BEFESTIGUNGSBUEGEL -
8 4858607 1 |RING-DICHTRING DIAM=12X17 MM SP=1,5
9 4858608 2 | ABDICHTUNG-ABDICHTUNG -
10 7300716 13 |BLECH-SICHERUNGSBLECH -
11 99452520 1 |KONSOLE-KONSOLE RIGHT
12 99442682 1 |GEHAEUSE-GEHAEUSE -
13 7301015 1 |DECKEL-DECKEL -
14 7301019 1 |FLACHDICHTUNG MOTOR - c
15 7301025 1 |STOPFEN-PLASTIKSTOPFEN -
16 7301026 1 |BUEGEL-BEFESTIGUNGSBUEGEL -
17 16689124 1 |SCHRAUBE-ZYLINDERSCHRAUBE M6X16 MM
18 99458260 4 | SCHRAUBE-SCHRAUBE M12X1,5X150 MM
19 99467535 1 |FLANSCH-FLANSCH ASSY
20 7303101 1 |DECKEL-DECKEL TOP
21 10263360 1 |ABDICHTUNG-ABDICHTUNG SP=1 MM

IVECO




Fahrgestell: ZCFD4079205117224 | VP: 15211211200065 | Modell: 40-10 4X4T.DAILY(96) | Baureihe: 54 | Gruppe: 04 | Untergruppe: 30 |

Bildtafel: 6430732

22 10305071 1 |STOPFEN-VERSCHLUSSTOPFEN M20X1,5

23 16979731 1 MUTTER-MUTTER M10X1,25

24 16603924 6 [SCHRAUBE-SECHSKANTSCHRAUBE M6X30 MM

25 16289124 2 | SCHRAUBE-SECHSKANTSCHRAUBE M10X1,25X60 MM S
26 11500021 15 |SCHRAUBE-STIFTSCHRAUBE M6X9 MM

27 11500821 2 |SCHRAUBE-STIFTSCHRAUBE - C
28 17849770 3 [EINSATZ-GEWINDEEINSATZ M8X16 MM

29 16603724 10 |SCHRAUBE-SECHSKANTSCHRAUBE M6X20 MM (8.8) S
30 13449524 2 [SCHRAUBE-STIFTSCHRAUBE M10X1

31 17094714 1 UNTERLEGSCHEIBE DIAM=6,4X12 MM S
33 17816314 1 |ZWISCHENLAGE-ZWISCHENLAGE DIAM=8,5X18 MM SP=15

34 16689224 1 |SCHRAUBE-INNENSECHSKANTSCHRAUBE M6X20 MM

35 14328101 2 [STOPFEN-VERSCHLUSSTOPFEN DIAM=8 MM

36 17290281 1 RING-O-RING DIAM=63,09 MM SP=3,53

37 14466081 1 RING-O-RING DIAM=101,19 MM SP=3,53

38 15971321 4 | SCHRAUBE-SECHSKANTSCHRAUBE M10X1,25X75 MM S
39 16289624 2 |SCHRAUBE-SECHSKANTSCHRAUBE M10X1,25X100 MM

40 16043324 1 |SCHRAUBE-SECHSKANTSCHRAUBE M8X18 MM

41 16605924 1 |SCHRAUBE-SECHSKANTSCHRAUBE M8X40 MM S
42 10902124 8 | SCHRAUBE-SCHRAUBE M6X14 MM

43 16980131 1 MUTTER-SECHSKANTMUTTER M12

45 16605624 6 |SCHRAUBE-SCHRAUBE M8X25 MM (8.8)

46 17037821 14 |MUTTER-MUTTER M6X1

IVECO




Fahrgestell: ZCFD4079205117224 | VP: 15211211200065 | Modell: 40-10 4X4T.DAILY(96) | Baureihe: 54 | Gruppe: 04 | Untergruppe: 30 |

Bildtafel: 6430732

47 17037921 4 |MUTTER-SECHSKANTMUTTER M8X1,25 S
48 17088474 26 |SCHEIBE-FEDERSCHEIBE DIAM=6X12 MM

49 17089474 16 |SCHEIBE-FEDERSCHEIBE DIAM=8X16 MM SP=1,4 MM

50 17090274 5 |[UNTERLEGSCHEIBE DIAM=10X20 MM

51 17094914 1 UNTERLEGSCHEIBE DIAM=8,4X16 MM

52 17281581 1 RING-O-RING =

53 17282281 1 RING-O-RING DIAM=23,4 MM SP=2,6 MM

54 98421262 1 FLACHDICHTUNG MOTOR = C
55 98421263 1 FLACHDICHTUNG MOTOR SP=0,5 MM

57 98421270 1 FLACHDICHTUNG MOTOR - C
58 98421271 1 FLACHDICHTUNG MOTOR - C
59 98421284 1 FLACHDICHTUNG MOTOR - C
60 98421292 1 FLACHDICHTUNG MOTOR SP=0,8 MM C
61 98454041 1 RING-WELLENDICHTRING =

62 99468007 1 DECKEL-DECKEL ASSY REAR

65 98461177 1 BUCHSE-BUCHSE DIAM=40X46,2 MM

66 98461178 1 RING-O-RING DIAM=46,04 MM SP=3,53

67 98465476 3 [STIFT-PASSTIFT DIAM=8 MM

68 98468138 1 |SCHRAUBE-SECHSKANTSCHRAUBE M8X1,25X150 MM

69 99446916 1 |GEHAEUSE-LAGERGEHAEUSE ASSY

75 16606024 4 | SCHRAUBE-SECHSKANTSCHRAUBE M8X45 MM S
77 16707034 7 |SCHRAUBE-ZYLINDERSCHRAUBE M8X16 MM

78 17089574 7 UNTERLEGSCHEIBE DIAM=8X16 MM S

IVECO




Fahrgestell: ZCFD4079205117224 | VP: 15211211200065 | Modell: 40-10 4X4T.DAILY(96) | Baureihe: 54 | Gruppe: 04 | Untergruppe: 30 |

Bildtafel: 6430732

79 99447458 1 DECKEL-KURBELWELLENDECKEL HINTEN WITH SEAL

80 500325603 1 |STIFT-PASSTIFT DIAM=11 MM

81 500354824 1 |GEHAEUSE-LAGERGEHAEUSE ASSY M
82 4732685 1 |STIFT-PASSTIFT DIAM=10 MM

83 500364650 1 |GEHAEUSE-LAGERGEHAEUSE ASSY M
84 500377030 1 |GEHAEUSE-LAGERGEHAEUSE - M
85 504027988 1 |GEHAEUSE-LAGERGEHAEUSE ASSY M
86 500368070 1 FLACHDICHTUNG MOTOR M6X12X14 MM M
87 17318511 1 |STOPFEN-GEWINDESTOPFEN M6X1

IVECO




